
Time: 10 Minutes Paper G. Science 6th Total Marks: 10

6th Month, 4th Week, 4th Day Syllabus: Unit # 12: Communication satullites to

key milestones in space technology.

Q.No.1 Encircle the correct answer from the following choices. (1×6 = 6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. How many countries are menaging the largest system of communication?
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(a) 120 (b) 126 (c) 136 (d) 146

2. The scientist who became the first man to walk on the moon was:

‚‚‚‚0000ZZZZyyyy����eeee0000++++6666,,,,½½½½zzzzZZZZÑÑÑÑªªªªMMMMŠŠŠŠòòòò¯̄̄̄åååå::::

(a) Neil Armstrong BMg›z8- (b) Yuri Gagarin -g~µ5¾æ
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(c) Halley 
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3. The passenger on the sputnik-2 was: 6666,,,,))))����ÛÛÛÛåååå:::: 2 7777””””XXXX

(a) Rabbit yÍl (b) Rat a; (c) Dog Â (d) Bat ÆŠh

4. The sputnik-1 was launched in: ””””ggggssss™™™™zzzzZZZZcccc****ŠŠŠŠHHHHåååå:::: I- 7777””””

(a) 1557 (b) 1757 (c) 1858 (d) 1957

5. The first piece of the international space station was launched in:

ZZZZÚÚÚÚDDDDÜÜÜÜððððøøøø»»»»ªªªª••••ZZZZ''''''''''''~~~~””””ggggssss™™™™zzzzZZZZcccc****ŠŠŠŠHHHHååååXXXX

(a) 1996 (b) 1997 (c) 1998 (d) 1999

6. In 1997, the pathfinder lands on:

YYYY~~~~0000****BBBBÃÃÃÃððððggggääää''''''''''''6666,,,,ŠŠŠŠxxxxgggg3333XXXX 1997

(a) Venus zß (b) Mars %õ (c) Uranus -gß (d) Mercury %™~

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is meant by satellite revolving stations?
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(ii) What is the purpose of communication satellites?
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